2.5 Solving One-Step Equations.notebook February 27, 2024

Solutions

Page 82 #s 1ace, 2ace, 3ace, 4ace, 5ac,
6acegik, 7, 8bdfh, 10, 12a

Page 84 #s 14, 15a, 18a, 20b, 21c

1. State the operation that would be applied to both sides of the equation to solve for the unknown.

a) x+5=12 by y—4=5 c) 10+x=14 d) t+(-2)=6 e) 8=x-6

-5 - 10 ’l"é
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2. State the operation that would be applied to both sides of the equation to solve for the unknown.

a) 2x=16 b) 3y=27 «¢) -5x=20 d) 9n=-45 e) 32=8x 1) -10=-15k

=2 =-S =3

3. Solve (determine the value of the unknown).

a) x+6=10 b) y—7=8 c) x—T=-T7 d) 5+m=-6 e) 9+r=-15

~+6-4 =10-6
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4. Solve.
a) 2x=14 b) 3x=18 c) Sn=-20 d —2p=10 e) —10x=-80
Zoc 1% 5An _~2 ~1Oox _ ~8
— —_— — — _—
/

< ) S -1 —1o

2
> =7 n=-4% x =8

5. Simplify each equation to an equivalent one-step equation. You do not need to solve the equation.

a) 2x=10+8 b) 4y=-12+4 ¢) 2x+3x=20 d) 8x—5x=-15+3

Zx =18 S5x =20
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6. Solve.
a) x+9=15 c) 8x=24 e) —9=k+7
S+ -4 =151 - =k F-T
— §£:1L" "'}(-> = k
> =3
g) x+(=3)=9 i) B+x=-17 k) 16=2x
> -3 +3 =943
>x =12 —8+X1‘8:—\}+g
- -9 ]é = 2 X
> = - S
2 2
g =

7. Match each equation on the left with its equivalent equation on the right.
a) 8x=-5+21 /\' 1) Tx=-14
b) 15_r—7_r=3'2\ > i) 8x=32
c) 25-39=T7x é{ i) Tx=-21
d) -21=15x—8x Ai‘” 8x=16
e) Sx+3r=—12-4 —2 v) 8x=-16
O\) QﬁQQ IV) ok) Olr\oQ HD
. o V)
L) ant ) @)
C) O]r\oQ /)
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8. Solve.
b) 9x—4x=20 d) —5x+3x=18
Sx =20 —Vx =18
s s =2, =2
> = Y x = -1
f) 3x—=Tx=0 h) 6x—4x=-25+13
-4 = O Z2x = —12
I — —
-4 -4 2 z
x_ =0 xX = - é

10. A triangle has angles of x, 2x and 2x, as shown on the right.

a) Create an equation that could be used to determine the value of x.

February 27, 2024

b} Solve your equation to find the value of x.

O\} Or )QS I~ On "Y‘I.O\f\i}( 7L0+0\' /800

S 42x +2x =1
S> =180

b) Sx =l

x‘—‘Séo
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12. After solving an equation, we can check our solution by comparing the left and right sides of the
original equation with the solution value substituted for the variable. Consider the following

- left side = right side
- the solution x = —4 is correct

example:
Solve 3x—x=—19+11  check:
| Left Side Right Side !
Solution: | 3x—x —19+11
3x—x=—19+11 | =3(-4)—(-4) ~_8 i
2x=-8 = 12-(4)
(=S s g
2 | |
x=—4 i i

Solve each of the following equations and check your answers.

a) Sx+2x=65-35 L S KS
| O =;C_)’ 8(3) 4'2(3) £5-35
1O 1S = oq+6 = 30O

x:S :3@ é__S-:ﬁS(/

14. At his summer job, Alan earns x dollars per hour. Rawan earns double Alan’s hourly wage and
Mikayla earns double Rawan’s hourly wage. If all three students work one hour, their combined
earnings equal $99.75.

a) Create an equation that could be used to determine the value of x.
b) Solve your equation to find the value of x.

¢) Determine each student’s hourly wage.

0\> /A\‘W\ :$X/L‘
Lowaon = i’[x /l\
/V\ikoyl‘?\: Jux(h
£o.c‘j\ work I /\ow
= X 4+ 2x +%x F 1935
?x = 9935
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L) 3=
R

> = |%.2S

Q) = Alon oS Jle2s [bor

Rowvon eams $28'SO//*OV\/
M ikonlo, €osns $5% [ howr

15. Root of an Equation: A solution of an equation is commonly referred to as a root of the

equation. Find the root of each of the following equations. Express each answer as a fraction in
simplest (reduced) form.

a) 9x=6

%

/)
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18. Solve. 20. Solve. 21. Salve.
a) 3x—3x=15+13 b) Jy=3 ) x'=-25
o2
Oox = 28 U5)=3" > =0
O @) _ 7
. = 9 X =
Sc = Undefined 9 -
: /D’\Q/‘ﬁ IS o
/ﬂ\v{’s r\c/ <( eo\[) Solm‘f\bv\’.

Selnhen .
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